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December - 2000, Sub: Maths, Class - VI
Time: 3 hrs. M.M. 100
Note: All questions are compulsory. Teacher should provide required material to the students
for activity.
Each guestion carries three marks.
1. Fill in the blanks.
i} The smallest whole number is ...
iy S+{-Ty=[__]+5

iii) The smallest odd number is _...............

2. Determine whether 3,5,9,18 are in proportion or not 7
3. Find the value of : 25% of Rs. 80
4. Write using numbers, literals and the arithematical operations:

The sum of the number 9 and =,
A, Write LHS and RHS of the cquation ; 2v-6=y+4

. Take two points P and ©Q. Draw a line passing through P and Q. How many lines can be drawn
passing through P and ().
. Construct a line segment of length 6.8 cm.
8. Mame the initial points of the following roys.
{in —* iy = {iiiy  —»
AB BA LM
0. Identify the following angles.
{ T
.‘I ? Wl r
) T
i} Interior angles iy Exterior angles
10. Determine whether 30°, T0°, 60" arc angles of a triangle ?
O/

Construct an angle of 1107 with the help of a protractor.

(Pari-2)
Each question carries four marks.
11. Find the sum by suitable rearrangement @ 447 + 807 + 553
OR

Evaluate using propertics of multiplication : 398 = § + 508 = 2
12 Find the value of : -25 - [35+(-35)]
13 Find HCF by continued division method @ 32, 48, 240
14, Tinku purchased an old bicycle for Rs. 600 and afier some days sold it for Rs. 570. Find profit

percent or loss percent.
I3, Find the sum of : Ta + 2k and 3a - 4b



16,

17.

18.

1%,

20.

Fill in the blanks.

i) A dot gives us an idea of ...

i) The surface of table gives us an idea of ..o,

i) The opposite edges of table top give us an idea of s,
iv) The line has no ...

Which of the angles are adjacent angles 7

f
(i) (i) (i} {iv]
]
Classify the following pairs of angles as complementary or supplimentary.
i 70E 200 i) 1307, 507 ey 10, BOE iv) 907, 90°

In the figure a pair of rays o lines or line segments are given. In each case determine whether
the rays, lines or line segments are parallel or not.

P Q
(i}
. /S
(i
B ] R
“— > [
P -
. 0 (iv)
(i
< * i
Q ]
Angles of some triangles are given below. Classify them as acute, obtuse or right triangles.
ip 35° 35,907 i) 73 35, 50 iy ed)", 60", 60° vl 1500 20% 107

Draw two concentric circles with centre C and radii 3 cm. and Scm. respectively.

Part (iii)

Each guestion carries 6 marks.

2L

23,
24,
25.

Sham bought a bat for Rs. 340 and a ball for Rs. 70 from a shopkeeper, He gave the shopkeeper
a five hundred rupee note. How many rupees will he get back
DR

Find the value of : 352 + {370+ 110)
Simplify : 18+ {10 -5+ {6-2)}
The product of two numbers is 96 and their L.C.M. is 24. Find their H.C.F.
If the cost of two dozens of eggs is Rs. 36, Find the cost of 16 eggs.
Solve the equation and verify your answer.
Jy+i=yid

OR
By activity show that sum of all angles of a triangle is 1807,
(Required material : Glazed paper, scissor, gum, pencil, geometry box ete.)



